ASSEMBLY INSTRUCTIONS

Step 1

Step 2

PARTS LIST
NO.| Parts | QTY NO.| Parts | QTY
A (M6*1.18" ) 16 D @ 2
(M6*1.57" ) (M4*1.37" )
C|=| I k (M6*1.18" ) 2




Step 3

Finished

Step 4

wall

Page 3

wall

\\




